

Ziel 1 $m, q, \vec{B} = B \hat{e}_z = (0, 0, B)$

$$V = -\frac{k}{2} (x^2 + y^2) \quad k > 0$$

$$F_{\text{Lor}} = -kx - ky$$

$$\det \begin{pmatrix} \frac{\partial^2 V}{\partial x^2} & \frac{\partial^2 V}{\partial x \partial y} & \frac{\partial^2 V}{\partial x \partial z} \\ \frac{\partial^2 V}{\partial y \partial x} & \frac{\partial^2 V}{\partial y^2} & \frac{\partial^2 V}{\partial y \partial z} \\ \frac{\partial^2 V}{\partial z \partial x} & \frac{\partial^2 V}{\partial z \partial y} & \frac{\partial^2 V}{\partial z^2} \end{pmatrix} = V_{xx} B e_x - V_{xy} B e_y$$

$$\begin{cases} m\ddot{x} = +kx + q\dot{y}B \\ m\ddot{y} = +ky - q\dot{x}B \\ m\ddot{z} = 0 \end{cases}$$

$$x(0) = x_0$$

$$V_x(0) = 0$$

$$y(0) = 0$$

$$V_y(0) = V_0$$

$$z(0) = 0$$

$$V_z(0) = 0$$

Bruch geschlossener mit in Wirbeln 2 mje und in 2D

$$\begin{cases} m\ddot{x} = +kx + q\dot{y}B/m \\ m\ddot{y} = +ky - q\dot{x}B/m \end{cases} \rightarrow \begin{cases} \ddot{x} = +\omega_0^2 x + \omega_B \dot{y} \quad (1) \\ \ddot{y} = +\omega_0^2 y - \omega_B \dot{x} \quad (2) \end{cases} \quad \omega_0 = \sqrt{\frac{k}{m}}, \quad \omega_B = \frac{qB}{m}$$

$$\textcircled{1} \quad \ddot{x} + \omega_0^2 x - \omega_B \dot{y} = 0 \rightarrow \frac{d}{dt} (\dot{x} + \omega_0^2 x - \omega_B y) = 0$$

$$\dot{x} + \omega_0^2 x - \omega_B y = \text{const} \rightarrow \dot{x} = -\omega_0^2 x + \omega_B y + C$$

$$\textcircled{2} \quad \ddot{y} + \omega_0^2 y + \omega_B \dot{x} = 0 \rightarrow \frac{d}{dt} (\dot{y} + \omega_0^2 y + \omega_B x) = 0$$

$$\begin{cases} \dot{x} = \chi \\ \dot{y} = \gamma \end{cases} \rightarrow \begin{cases} \chi^2 = -\omega_0^2 x + \omega_B y \\ \gamma^2 = -\omega_0^2 y - \omega_B x \end{cases}$$

$$W = x + iy \quad \dot{W} = \dot{x} + i\dot{y} \quad \ddot{W} = \ddot{x} + i\ddot{y}$$

$$\textcircled{1} + \textcircled{2} \cdot i \rightarrow \ddot{x} + i\ddot{y} = +\omega_0^2 (x + iy) + (\dot{y} - i\dot{x}) \omega_B$$

$$\dot{y} - i\dot{x} = -i\dot{W}$$

$$\ddot{W} = +\omega_0^2 W - i\dot{W}\omega_B$$

$$\ddot{W} + i\omega_B \dot{W} + \omega_0^2 W = 0 \quad \leftarrow W = Ae^{i\lambda t}$$

$$\dot{W} = i\lambda Ae^{i\lambda t}$$

$$\ddot{W} = -\lambda^2 Ae^{i\lambda t}$$

$$-\lambda^2 - \lambda\omega_B + \omega_0^2 = 0$$

$$\lambda^2 + \lambda\omega_B - \omega_0^2 = 0$$

$$\Delta = \omega_B^2 + 4\omega_0^2$$

$$\sqrt{\Delta} = \sqrt{\omega_B^2 + 4\omega_0^2}$$

$$\lambda_1 = \frac{-\omega_B + \sqrt{\omega_B^2 + 4\omega_0^2}}{2}$$

$$\lambda_2 = \frac{-\omega_B - \sqrt{\omega_B^2 + 4\omega_0^2}}{2}$$

$$W(t) = Ae^{i\lambda_1 t} + Be^{i\lambda_2 t} = Ae^{i \frac{-\omega_B + \sqrt{\omega_B^2 + 4\omega_0^2}}{2} t} + Be^{i \frac{-\omega_B - \sqrt{\omega_B^2 + 4\omega_0^2}}{2} t}$$

$$W(0) = x_0 + 0i \quad \dot{W}(0) = 0 + iV_0$$

2 1 wavenum

$$A + B = x_0$$

2 2 wavenum

$$-\lambda^2 - \lambda\omega_B - \omega_0^2 = 0$$

$$\lambda^2 + \lambda\omega_B + \omega_0^2 = 0$$

$$\Delta = \omega_B^2 - 4\omega_0^2$$

$$\lambda_1 = \frac{-\omega_B + \sqrt{\omega_B^2 - 4\omega_0^2}}{2}$$

$$\lambda_2 = \frac{-\omega_B - \sqrt{\omega_B^2 - 4\omega_0^2}}{2}$$

$$W = Ae^{i\lambda_1 t} + Be^{i\lambda_2 t} \quad \text{ger. } \operatorname{Re}(W) = x \quad \operatorname{Im}(W) = y$$

$$W(0) = x_0 + 0i \quad \dot{W}(0) = 0 + iV_0$$

2 1 wavenum

$$A + B = x_0$$

$$A = (x_0 - B)$$

2 u warnehmen

$$\dot{w} = A i \lambda e^{i \lambda_1 t} + i B \lambda e^{i \lambda_2 t}$$

$$\dot{w}(0) = A i \lambda_1 + B i \lambda_2 = i V_0$$

$$A \lambda_1 + B \lambda_2 = V_0 \rightarrow \text{AN} \quad B = \frac{V_0 - A \lambda_1}{\lambda_2}$$

~~$$\lambda x_0 - B \lambda_1 + B \lambda = V_0$$~~

$$A + \frac{V_0 - A \lambda_1}{\lambda_2} = x_0 \rightarrow \lambda_2 A + V_0 - A \lambda_1 = x_0 \lambda_2$$

$$A(\lambda_2 - \lambda_1) + V_0 = x_0 \lambda_2 \rightarrow A = \frac{x_0 \lambda_2 - V_0}{(\lambda_2 - \lambda_1)} \wedge B = x_0 - \frac{x_0 \lambda_2 - V_0}{(\lambda_2 - \lambda_1)}$$

Nie wie oft mit g $\lambda_1, \lambda_2 \in \mathbb{R}$ ungli.

$$\sqrt{\omega_B^2 - 4\omega_0^2} \in \mathbb{R} \Leftrightarrow \omega_B^2 - 4\omega_0^2 \geq 0$$

$$\omega_B \geq 2\omega_0$$

$$\frac{qB}{m} \geq 2\sqrt{\frac{k}{m}}$$